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1. The range of Normal distribution is:
(A) Oton (B) 0 to +oo (C) -1to+1 (D) - to +0o
2. The Normal distribution has parameters:
(A) One (B) Two (C) Three (D) Four
3. The total area under the Normal curve is:
(A) 0.5 (B) 0.75 1.0 (D) 1.50
4. Any measure calculated from sample is called:
(A) Parameter (B) Statistic (C) Error (D) Population
5. The difference between statistic and parameter is called:
(A) Probability (B) Sampling error (C) random (D) Non-random
6. The mean of Sampling distribution of means is equal to:
(A) X (B) u P D) o
7. Estimate and estimator are:
(A) Same (B)Maximum (C) Minimum (D) Different
8. (1 - a)iscalled:
(A) Critical value (B) Level of; (C) Level of (D) Interval estimate
significance confidence

9. If Hy is true and we reject it is called:

(A) type-I error (B) type-II error (C)-Standard error (D) Sampling error
10. The two regression lines always passes through:
A) X,Y) (B) (a,b) © &Y D) (X.Y)
11. If ¥=2+0.6X, then the value of slope is equal to:
(A) 06 (B) 2 @< o (D) 1
12. The correlation coefficient is always lies between:
(A) -0 to +oo (B)Oton (C) 0to +oo (D) -1to+1
13. Association measures strength of relationship between:
(A) Variables (B) Constant (C) Attributes (D) Regression
14. For 3x 3 contingency table, the degrees of freedom is equal to:
(A) 4 (B) 3 ()9 D) 6
15. The multiplicative model of time series is:
(A) Y=T+S+C+ (B) Y=TSCI (C) Y=a + bx (D) Y =a+bx +cx?
16. Movement in secular trend is:
(A) Regular (B) Irregular (C) Fixed (D) Random
17. Programs in general are referred to as:
(A) Software (B) Hardware (C) Floppy disk (D) Hard disk
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2. Write short answers of any eight parts. 8§x2=16

(i) What is the range of normal distribution? (ii) What is the relation between mean, median and mode of
normal distribution? (iii) Define normal frequency distribution. (iv) In a normal distribution, mean is 100
and standard deviation is 10, Find quartile deviation of normal distribution. (v) In a normal distribution
H2 =4, Find third and fourth moments about mean. (vi) Define interval estimation. (vii) what is meant by
unbiased estimator? (viii) Distinguish between simple and composite hypothesis. (ix) What is meant by
level of significance? (x) Define type-II error. (xi) Describe the types of computer.
(xii) What is computer hardware?
3. Write short answers of any eight parts. 8§x2=16
(i) Define sample and sampling. (ii) What are the properties of sampling with replacement? (iii) Why
random sampling is used? (iv) What is bias? (v) If n=25 and 83 =5, Find §2. (vi) Given 8,%=150,
8,2=180, n;=30, n,=30 Find & %,-x, (vii) How will you describe simple linear regression model?
(viii) Explain the co-efficient of regression. (ix) Define regressand and regressor. (x) What does the
value of “y” indicates? (xi) Under what situations rank correlation is used? (xii) Given Yxy=—0.87,
byx=—1.4. Find by,.
4, Write short answers of any six parts. 6x2=12
(i) Distinguish between variable and an attribute.  (ii) Define independence of an attribute.  (iii) Define
positive and Negative association. (iv) Define term “Time Series”. (v) Enlist methods of secular trend.
(vi) What is Seasonal Variation? (vii) Define term “Signal”. (viii) What are four phases of business.
Cycle? (ix) What is Moving average?
SECTION -=-=-reene-- II

Note: Attempt any three questions. Each question carries equal marks. (8x3=24)
5. (@) IfX~N(36,49)find P(X < 32),P(X > 41)and P (30 < X < 40).

(b) If X~N(49,64)find the two points containing the middle 95% area under the normal curve.
6. (a) A population consists of values 3,5,7 and 9. Take all possible simple random samples of size 2

without replacement. Form the sampling distribution of sample mean and show that ug = u
(b) If the size of simple random sample from an infinite population is 55, the variance of sample
mean is 27. What must be the standard Error of sample mean if n=165,

7. (a) A random sample of size n=100 from a normal population yielded the sample mean X=190 and

S=800. Find 95% confidence interval for u.

(b) Samples of two types of electric light bulbs were tested for length of life and the following data
were recorded. A
Type I =5 , X; = 1224, (X,-X,)*=6484. Type Il n,=7, X,=1036, X (X, — X2)>=11200. Is
the difference in the mean significant? Assume that the population of two types have the same
variance. Use a = 0.05.
8. (a) Given the following data.
x |0 1 2 3 4
y |1.0 1.8 3345 63
Determine the regression line taking x as independent variable.
(b) Foraset of 22 pairs of observations, we have
Tx=983,Xy=409, Tx’=61339,% % =8475 Y xy=15811
Find the correlation coefficient for the data.

9. (a) Find co-effiecient of association from the following data.
Attribute Attacked Not attacked
Inoculated 528 25
Not inoculated 790 175
(b) For the following time series, determine the trend by using the method of 3-year moving average
Year 2001 2002 2003 2004 2005 2006 2007
Value 2 4 6 8 7 6 8
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